

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 5

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SMK 7460Y

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT FENDER RH	BUCKLED	897.00	780.00
1	FRONT FENDER LAMP RH	NOT NECESSARY	98.00	-
2	FRONT FENDER EMBLEM 'VVTI' @\$69.00	NECESSARY	138.00	138.00
2	FRONT FENDER INNER COWLING @\$310.00	NOT NECESSARY	620.00	-
1	FRONT BUMPER	DISTORTED	520.00	520.00
2	FRONT BUMPER FOGLAMP @\$395.00	CRACKED	790.00	636.00
2	FRONT BUMPER FOGLAMP LOWER GARNISH @\$95.00	CRACKED	190.00	190.00
2	FRONT BUMPER SIDE RETAINER @\$105.00	NECESSARY	210.00	210.00
1	FRONT BUMPER REINFORCEMENT	DENTED	398.00	398.00
1	FRONT BUMPER SPONGE	CRACKED	160.00	160.00
2	ENGINE UNDER COVER @\$365.00	NOT NECESSARY	730.00	-
2	HEADLAMP @\$575.00	CRACKED	1,150.00	1,150.00
1	CENTRE GRILLE	CRACKED	465.00	465.00
1	CENTRE GRILLE LOGO	NECESSARY	85.00	85.00
1	BONNET	DENTED	875.00	875.00
1	BONNET LOCK	DAMAGED	110.00	110.00
1	BONNET LOCK CABLE	NOT NECESSARY	75.00	-
1	BONNET INNER RUBBER	NOT NECESSARY	48.00	-
4	BONNET STOPPER @\$19.00	NOT NECESSARY	76.00	-
1	BONNET STAND	NOT NECESSARY	101.00	-
1	BONNET STAND CLIP	NOT NECESSARY	14.00	-
1	BONNET STAND HOLDER	NOT NECESSARY	21.00	-
2	BONNET HINGE @\$69.00	NOT NECESSARY	138.00	-
1	FRONT SUPPORT PANEL	BUCKLED	795.00	795.00
1	FRONT BRACE PANEL	BENT	110.00	110.00
1	RADIATOR	DISTORTED	2,010.00	1,385.00
4	RADIATOR MOUNTING @\$21.00	NECESSARY	84.00	84.00
1	RADIATOR TOP HOSE	NOT NECESSARY	89.00	-
1	RADIATOR LOWER HOSE	NOT NECESSARY	76.00	-
1	RADIATOR FAN MOTOR	DAMAGED	485.00	485.00
1	RADIATOR FAN COWLING	CRACKED	325.00	266.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 5

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	RADIATOR FAN BLADE	CUT	110.00	110.00
1	RADIATOR SPARE TANK	NOT NECESSARY	145.00	-
1	AIR CON CONDENSOR	DENTED	1,455.00	1,278.00
1	AIR CON CONDENSOR FAN MOTOR	DAMAGED	490.00	490.00
2	AIR CON CONDENSER MOUNTING RUBBER @\$19.00	NECESSARY	38.00	38.00
2	AIR CON CONDENSER BRACKET @\$20.00	BENT	40.00	40.00
1	AIR CON COMPRESSOR HOSE (PRESSURE)	NOT NECESSARY	650.00	-
1	AIR CON COMPRESSOR HOSE (SUCTION)	NOT NECESSARY	690.00	-
1	AIR CON PIPE (OUTLET)	BENT	595.00	345.00
1	FRONT CHASSIS MEMBER RH	TO REPAIR SEE LABOUR	1,495.00	-
1	TAIL GATE	DISTORTED	1,350.00	1,267.00
2	TAILGATE DAMPER @\$120.00	NOT NECESSARY	240.00	-
2	TAILGATE HINGE @\$72.00	NOT NECESSARY	144.00	-
2	TAILGATE NUMBER PLATE LAMP @\$49.00	NOT NECESSARY	98.00	-
1	TAIL GATE OUTER MOULDING	NOT NECESSARY	145.00	-
1	TAIL GATE LOGO	NECESSARY	95.00	95.00
1	TAILGATE EMBLEM 'TOYOTA'	NECESSARY	70.00	70.00
1	TAILGATE EMBLEM 'PICNIC'	NECESSARY	75.00	75.00
2	TAIL GATE REFLECTOR @\$285.00	CRACKED	570.00	570.00
1	TAIL GATE LOCK	DAMAGED	255.00	255.00
1	TAIL GATE LOCK CATCHER	NOT NECESSARY	50.00	-
2	TAIL GATE STOPPER @\$28.00	NOT NECESSARY	56.00	-
1	TAILGATE TOP TRIM	NOT NECESSARY	326.00	-
1	TAIL GATE INNER TRIM BOARD	DEFORMED	680.00	409.00
1	TAIL GATE WEATHERSTRIP	CUT	335.00	335.00
1	TAILGATE INNER HOLDER	NOT NECESSARY	48.00	-
2	TAILGATE INNER SIDE GARNISH TRIM @\$190.00	NOT NECESSARY	380.00	-
1	TAILGATE WINDSCREEN MOULDING	NECESSARY	180.00	180.00
1	REAR BUMPER	DISTORTED	550.00	550.00
2	REAR BUMPER REFLECTOR @\$80.00	CRACKED	160.00	160.00
2	REAR BUMPER SIDE RETAINER (INNER) @\$45.00	DAMAGED	90.00	90.00
2	REAR BUMPER SIDE RETAINER (OUTER) @\$65.00	DAMAGED	130.00	130.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 5

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	REAR BUMPER TOW HOOK COVER @\$30.00	DEFORMED	60.00	60.00
2	TAIL LAMP @\$295.00	O/S CRACKED	590.00	295.00
2	TAILLAMP PANEL @\$380.00	TO REPAIR SEE LABOUR	760.00	-
2	TAILLAMP INNER PANEL @\$460.00	TO REPAIR SEE LABOUR	920.00	-
2	TAILLAMP INNER LOWER PANEL @\$283.00	TO REPAIR SEE LABOUR	566.00	-
1	REAR SEAT REST BACK COVER BOARD RH	NOT NECESSARY	560.00	-
1	REAR SEAT REST BACK COVER BOARD LH	NOT NECESSARY	560.00	-
2	REAR SEAT SAFETY BELT @\$924.00	NOT NECESSARY	1,848.00	-
1	REAR CHASSIS MEMBER RH	TO REPAIR SEE LABOUR	1,460.00	-
2	REAR FENDER INNER TRIM BOARD @\$1088.00	DEFORMED	2,176.00	1,500.00
1	REAR FENDER AIR CON BLOWER C/W MOTOR	NOT NECESSARY	2,980.00	-
2	REAR FENDER UPPER TRIM RH @\$545.00	NOT NECESSARY	1,090.00	-
1	REAR END PANEL	DISTORTED	580.00	580.00
1	REAR END PANEL TOP GARNISH	DEFORMED	255.00	255.00
1	REAR FLOOR PANEL	BUCKLED	980.00	980.00
1	REAR FLOOR CROSS PANEL	BUCKLED	695.00	385.00
1	REAR FLOOR PANEL TOP BOARD	DEFORMED	1,060.00	687.00
1	REAR FLOOR MAT	TORN	396.00	396.00
1	REAR FLOOR TOP BOARD INNER SUPPORT (LONG)	CRACKED	464.00	464.00
2	REAR FLOOR TOP BOARD INNER SUPPORT (SHORT) @ \$195.00	NOT NECESSARY	390.00	-
	LESS 25% DISCOUNT		-10,502.00	-5,232.75
			31,506.00	15,698.25
	SPECIAL NETT ITEMS			
1	FRONT NUMBER PLATE (SPECIAL TYPE) (SN)	MISSING	180.00	60.00
1	SET FRONT BUMPER CLIPS (SN)	NECESSARY	80.00	30.00
1	SET FRONT FENDER COWLING CLIPS (SN)	NOT NECESSARY	60.00	-
1	FRONT SUPPORT PANEL SEALANT (SN)	NOT NECESSARY	80.00	-
1	FRONT SUPPORT PANEL SEALANT (SN)	NOT NECESSARY	150.00	-
1	COOLANT (SN)	NECESSARY	80.00	40.00
1	REAR NUMBER PLATE (SPECIAL TYPE) (SN)	DEFORMED	180.00	60.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 5

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	SET REAR BUMPER CLIP (SN)	NECESSARY	80.00	30.00
1	TAIL GATE EMBLEM 'DELUXE' (SN)	NECESSARY	80.00	60.00
1	TAILGATE WINDSCREEN SEALANT (SN)	NECESSARY	80.00	40.00
1	TAILGATE WINDSCREEN INNER SEAL (SN)	NECESSARY	60.00	30.00
1	SET TAIL LAMP CLIP (SN)	NECESSARY	40.00	20.00
1	SET REAR FENDER INNER TRIM CLIPS (SN)	NECESSARY	80.00	60.00
1	REAR END PANEL INSULATION SEAL (SN)	NECESSARY	150.00	60.00
1	REAR FLOOR PANEL INSULATION SEAL (SN)	NECESSARY	350.00	60.00
3	REVERSE SENSOR (SN)	DAMAGED	360.00	250.00
			2,090.00	800.00
	<u>LABOUR</u>			
	TO PANEL BEAT, REMOVE AND REPLACE PARTS. (FRONT). INCLUSIVE OF THE REPAIR OF FRONT CHASSIS MEMBER RH.		1,400.00	1,000.00
	TO SPRAY PAINT AFFECTED AREA. (FRONT)		1,400.00	1,000.00
	WIRING AND BULB CHECK. (FRONT)		80.00	30.00
	REFOCUS HEADLAMP BEAM. (FRONT)	NOT NECESSARY	60.00	-
	REMOVE AND REFIX AIRCON CONDENSOR AND REFILL GAS. (FRONT)		120.00	60.00
	REMOVE AND REFIX RADIATOR AND CONDUCT PRESSURE TEST. (FRONT)		60.00	60.00
	FRONT CHASSIS ALIGNMENT. (FRONT)	NOT NECESSARY	250.00	-
	PANEL BEATING, REMOVAL AND REPLACING PARTS. (REAR). INCLUSIVE OF THE REPAIR OF TAILLAMP PANEL, TAILLAMP INNER PANEL, TAILLAMP INNER LOWER PANEL AND REAR CHASSIS MEMBER RH.		2,200.00	1,300.00
	TO SPRAY PAINT AFFECTED AREA. (REAR)		2,000.00	1,200.00
	TUFF COAT. (REAR)		250.00	100.00
	REMOVE AND REFIX CUSHION SEAT / UPHOLSTRY AND ROOF LINNING TO FACILITATE REPAIR. (REAR)		180.00	80.00
	REMOVE AND REFIX REVERSE SENSOR AND DISTANCE SETTING. (REAR)		80.00	50.00
	REAR CHASSIS ALIGNMENT. (REAR)	NOT NECESSARY	250.00	-
	REMOVE AND REFIX TAILGATE WINDSCREEN. (REAR)		120.00	120.00
	TRANSFER TAILGATE MECHANISM. (REAR)		80.00	80.00
	CONDUCT WATER LEAKAGE TEST. (REAR)	NOT NECESSARY	100.00	-



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:5 of 5

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REMOVE AND REFIX AIRCON BLOWER MOTOR. (REAR)	NOT NECESSARY	350.00	-
	REMOVE AND REFIX REAR EXHAUST PIPE. (REAR)	NOT NECESSARY	180.00	-
	TO CHECK DIAGNOSTICS OF VEHICLE MANAGEMENT / CONTROL UNITS. RESET MEMORIES TO SPECIFICATION ETC. (REAR)	NOT NECESSARY	180.00	-
			9,340.00	5,080.00
	GRAND TOTAL		42,936.00	21,578.25

RECOMMENDED COST OF LUMP SUM REPAIRS		17,200.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CS/INC22004389/Avy3e2

ADRIAN LING WAI PING

B.Eng, AMSOE, AMIRTE, AMSAE-A, M. MATAI

K.K.LAU CPT(RET)

BEng(Hons), B.Bus, MBA, PEng, PE, MInstAEA, MASME, MIRTE

REGD Auto Consultant-SAE, Licensed Appraiser

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.